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Write the slope-intercept form of the equation of each line.
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Write the slope-intercept form of the equation of each line given the slope and y-intercept.

3)  Slope = 9,   y-intercept = 4 4)  Slope = 5,   y-intercept = -4

5)  Slope = -
5

2
,   y-intercept = -4 6)  Slope = -

1

2
,   y-intercept = 3

Write the slope-intercept form of the equation of the line through the given points.

7)  through: (-3, 4) and (0, -5) 8)  through: (0, 1) and (2, 2)

9)  through: (0, -4) and (1, -1) 10)  through: (-5, 4) and (-4, 1)
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Sketch the graph of each line.

11)  y = 4x + 2
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12)  y = 
5
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x - 1
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13)  y = -
1
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14)  y = -2x - 3
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Write the slope-intercept form of the equation of each line.

15)  y + 4 = -3(x - 5) 16)  y - 5 = 3(x - 3)

17)  y - 4 = 
3

2
x

18)  y + 5 = 2(x + 4)



©q c2g0e1B5i _KTuGtQag zSMoGfktcwdarrQeS JLsLUCE.J m KAPlKl] HrRiNgyh\tOsd irLe`sXejrhvYe`ds.o D UMMaGdteh nwEi[tpht JIknVf\iunZiZtOed kAjlvgseTbKrQaV \1f.

Worksheet by Kuta Software LLC

-3-

Answers to 5.3 Worksheet (ID: 1)

1)  y = 
5

2
x - 2 2)  y = -

1

3
x - 1

3)  y = 9x + 4 4)  y = 5x - 4

5)  y = -
5

2
x - 4 6)  y = -

1

2
x + 3

7)  y = -3x - 5
8)  y = 

1

2
x + 1

9)  y = 3x - 4 10)  y = -3x - 11 11)  
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13)  
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15)  y = -3x + 11 16)  y = 3x - 4
17)  y = 

3

2
x + 4

18)  y = 2x + 3


